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% 0.50 1, 201, 376. 00 6, 006
& B YEZERESN - 3,517.00m 3 343. 00 1,207, 382
&5 :1-6
&M VY L—<BLT (REH@ER) 1B%Y (3517m3)
2 b g - BIRTE By = BHO(f ® W E " =
B (o L—<f) BEAMIER) $MDE 1200PSEY
B 1.00 2,262, 803.00 2,262,803/6.00H / 8H
B (REZEDLLENES) $AD 10tH
B 1.00 295, 999. 00 295, 999 8H
MR EXENOY
% 0.50 2,558, 802. 00 12,794
& B YEZERESN - 3,517.00m 3 731.00 2,571,596




Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 1-1
£ U L— MR BEAMER) SADE 1200PSE! IEE D)
% g FE - BKTE BfL = B ® B & " %
Bxm () L—<i) BEAFER) $MDE 1200PSZ!
= 0.50 878, 880. 00 439, 440 AR
Bt (MBEZHEDLLEVESR) D 10t/
= 0.50 111, 000. 00 55, 500 4t FA
& G fE%EES 1. 00K 494, 940. 00 494, 940
&= :1-8
Z%  BEME () U5 IREM Ry PR D 30 BWE~)IRE (EK) 1E%Y
% g B - BKTE BfL = B ® B & " %
% 1.00 6, 925, 000. 00 6, 925, 000
BEIRE
% 1.00 4,342, 451.00 4,342, 451
B
% 1.00 16, 915, 800. 00 16,915, 800
BRI
% 1.00 809, 091. 00 809, 091
wEZ
% 1.00 71, 058. 00 77,058
& i fE%8EH : 1.00E 29, 069, 400. 00 29, 069, 400
&5 :1-9
2% EME Q) J5THREM RSy R D 30m  JIME~ERE (ER) 14y
% g B - KT BfL = B ® B i) " %
% 1.00 6, 925, 000. 00 6, 925, 000
BEIRE
% 1.00 4,342, 451.00 4,342, 451
B
% 1.00 16, 915, 800. 00 16,915, 800
BRI
% 1.00 809, 091. 00 809, 091
wEZ
% 1.00 71, 058. 00 77, 058
& i fE%8EH : 1.00E 29, 069, 400. 00 29, 069, 400




REAR-ET/Avr—> SFN7EE )| B E M ROMES - it (-12m) B T

&5 :1-10
Z% : EMEB Q) TEMEGEEAR) MI300mMIE ERFE~IRE (FR) HEED)
2 b g - BIRTE BT o = B O ® W = " =
BEE
= 1.00 175, 500. 00 175, 500
EX T
= 1.00 2,607,672.00 2,607,672
B
= 1.00 2,436, 500. 00 2,436, 500
Elf R & F
= 1.00 10, 849. 00 10, 849
wE%E
= 1.00 21,944.00 21,944
& B 1YEZHEH - 1.00[E 5,252, 465. 00 5,252, 465
&5 1-11
£ BMEB @) TEMGEGEEAR) MI00mMIE JIIRBE~E0RE (ER) HEED)
2 b g - BIRTE BT H = B O ® W E " =
BEE
= 1.00 175, 500. 00 175, 500
EX T
= 1.00 2,607,672.00 2,607,672
B
= 1.00 2,436, 500. 00 2,436, 500
Elf R & F
= 1.00 10, 849. 00 10, 849
wE%E
= 1.00 21,944. 00 21,944
& B 1YEZHER - 1.00[E 5,252, 465. 00 5, 252, 465




REAR-ET/Avr—> SFN7EE )| B E M ROMES - it (-12m) B T

&5 :1-12
%5 BB G) TEMGEEAR) MI300mMIE ERE~IRE (EFR) HEED)
2 b g - BIRTE BT o = B O ® W = " =
BEE
= 1.00 175, 500. 00 175, 500
EX T
= 1.00 2,607,672.00 2,607,672
B
= 1.00 2,436, 500. 00 2,436, 500
Elf R & F
= 1.00 10, 849. 00 10, 849
wE%E
= 1.00 21,944.00 21,944
& B 1YEZHEH - 1.00[E 5,252, 465. 00 5,252, 465
&5 :1-13
&% BB 6) TEMEGEEAR) MI00mMIE JIIRBE~E0E (ER) HEED)
2 b g - BIRTE BT H = B O ® W E " =
BEE
= 1.00 175, 500. 00 175, 500
EX T
= 1.00 2,607,672.00 2,607,672
B
= 1.00 2,436, 500. 00 2,436, 500
Elf R & F
= 1.00 10, 849. 00 10, 849
wE%E
= 1.00 21,944. 00 21,944
& B 1YEZHER - 1.00[E 5,252, 465. 00 5, 252, 465




REAR-ET/Avr—> SFN7EE )| B E M ROMES - it (-12m) B T

&5 :1-14
£ BMEB () TEMGEEAR) MI300mMIE ERE~IRE (FR) HEED)
2 b g - BIRTE BT o = B O ® W = " =
BEE
= 1.00 175, 500. 00 175, 500
EX T
= 1.00 2,607,672.00 2,607,672
B
= 1.00 2,436, 500. 00 2,436, 500
Elf R & F
= 1.00 10, 849. 00 10, 849
wE%E
= 1.00 21,944.00 21,944
& B 1YEZHEH - 1.00[E 5,252, 465. 00 5,252, 465
&5 :1-15
%5 BB B) TEMEGEEAR) MI00mMIE JIRB~E0E (ER) HEED)
2 b g - BIRTE BT H = B O ® W E " =
BEE
= 1.00 175, 500. 00 175, 500
EX T
= 1.00 2,607,672.00 2,607,672
B
= 1.00 2,436, 500. 00 2,436, 500
Elf R & F
= 1.00 10, 849. 00 10, 849
wE%E
= 1.00 21,944. 00 21,944
& B 1YEZHER - 1.00[E 5,252, 465. 00 5, 252, 465




Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 :1-16
£ BMBO Y L—IM BRE~IIRE (EEK) HEED
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 2,950, 000. 00 2,950, 000
EX T
= 1.00 2,402, 261.00 2,402, 261
B
= 1.00 4,996, 120. 00 4,996, 120
Elf R & F
= 1.00 344, 667. 00 344, 667
wE%E
= 1.00 33, 043. 00 33, 043
& B 1YEZHEH - 1.00[E 10, 726, 091. 00 10, 726, 091
&5 . 1-17
&% BEfE00) U L—<Mm JIRE~EFRE (EER) HEED
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 2,950, 000. 00 2,950, 000
EX T
= 1.00 2,402, 261.00 2,402, 261
B
= 1.00 4,996, 120. 00 4,996, 120
Elf R & F
= 1.00 344, 667. 00 344, 667
wE%E
= 1.00 33, 043. 00 33, 043
& B 1YEZHER - 1.00[E 10, 726, 091. 00 10, 726, 091
&5 :1-18
¥ BAEMLEER B 1LY
2 b g - BIRTE By = B Ol ® # " =
BEYBEHEESR
= 1.00 243, 720. 00 243, 720
& Hi 1E%HeH - 1.00K 243, 720. 00 243, 720




Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 :1-19
5 HSHlER: B 1LY
2 b g - BIRTE By = BHO(f ® % # " =
BEYBEHEER
= 1.00 10, 195. 00 10, 195
BREL - EAHER
= 1.00 4, 485.00 4,485
& Hi 1YE%HeH - 1.00K 14, 680. 00 14, 680
&5 :1-20
2 FAEMLEESN 1LY
2 b g - BIRTE By = BHO(f ® # " =
FAEMLESHE ZEHO) (ETH) EEzX #5600, $400 [EH] )
H=6m = 1.00 1, 958, 400. 00 1,958, 400
FAEMLESH (ZE50Q) (ETH) EEzX #5600, $400 [EH] )
H=7m = 1.00 2,657,100. 00 2,657,100
FAMLESH EEOEH) (ETH) EEzX #5600, $400 [EH] )
H=8m = 1.00 1,719, 720. 00 1,719, 720
FAMLESH EEOH) (Bi#) AEX (#300. 6300 [E¥H] )
H=2m = 1.00 550, 800. 00 550, 800
H iz & % H-200
= 1.00 217, 448. 00 217,448
& Hi 1E%HeH - 1.00K 6, 913, 468. 00 6,913, 468
&5 :1-21
£ FAMLERTEER (ETE) H=67 8m 1LY
2 b g - BIRTE By = BHoO(f ® # " =
BB LR SR BLEESRAEERSHY) 100~500m K
[=] 23.00 32,421.00 745, 683
& Hi 1E%Heh - 1.00K 745, 683. 00 745, 683




Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 :1-22
% FALERTERE (BXE) H=2m 1LY
2 b g - BIRTE By = BHO(f ® W = " =
EE LS iR KpEHERR EEMOBEEZMEHT) 100m
i [=] 2.00 68, 074.00 136, 148
& Hi 1YE%HeRH 1,00 136, 148.00 136, 148
&5 :1-23
& BEILEREEE 1LY
2 b g - BIRTE By = BHO(f ® W E " =
5 fin £WMD 300PSEY
B 1.00 147, 831.00 147,831 4.00H / 8H
MR EXENOY
% 0.50 147, 831.00 739
& B 1E%HeH - 1.00K 148, 570. 00 148, 570
&5 :1-24
&% FAELERE (ETE) H=6,7, 8m 120m¥% Y
2 b g - BIRTE By = BHO(f ® W E " =
BB ERE EEY L—2idds
m 120. 00 5, 665. 00 679, 800
& Hi 1E%HEH : 120.00m 5, 665. 00 679, 800




Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 :1-25
&% BEBLERE (BI®) H=2m 100m% Y
2 b g - BIRTE By = B ® W = " =
J L—fitEh 35~40t /A
B 1.53 360, 163. 00 551,049 6. 00H / 8H
5fin D 300PSEY
B 1.53 147,831.00 226,181/4.00H / 8H
& $M300tFE
B 1.53 159, 093. 00 243,412 8H
5fin D 300PSEY
B 1.53 161, 440. 00 247,003 6.00H / 8H
Bk D 270PSE! 3~5tH
B 1.53 198, 598. 00 303, 854 8H
SOTL—29L—r hEEmES J8]  25tRA
B 0. 38 55, 100. 00 20, 938
LTEEXE
A 6. 56 21, 630. 00 141, 892
MR 2E0%
% 0.50 1,734, 329. 00 8,671
& B 1EZ%HEH : 100.00m 17, 430. 00 1,743, 000
&5 :1-26
£ SHEAELLRER 100m2HY
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FSvo 2tiE
H 2.00 34,529.00 69,058 4. 70H / 8H
MR ELNOY
% 1.00 126, 458. 00 1,264
& i 1EZBER - 1.00 127, 722.00 127,722
&5 :2-3
£ BMIERQEESY) (2) BRI IEED)
2 b g - BIRTE By = B 4 ) W = " =
BIEWHEE
A 2.00 28, 700. 00 57, 400
FSvo 2tiE
H 2.00 34,529.00 69,058 4. 70H / 8H
MR ELNOY
% 1.00 126, 458. 00 1,264
& i 1EZBERN - 1.00 127, 722.00 127,722
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Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&S24
£ BETXMICT) (1) HBIm IEED)
£ 5 L - BIRTiE BAf = B & % = 1%
REE S4 kY 2L
B 1.00 3,658.00 3,658/2.00H / 8H
B2 FEHER
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.50 52, 300. 00 78, 450
B
A 1.50 41,100. 00 61, 650
BEENF
A 1.00 34, 900. 00 34,900
BIEf FRP D 70PSZE!
B 1.00 52,702. 00 52, 702 |8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 1.00 657, 600. 00 6,576
& B 1E%HeH - 1.00K 664, 176. 00 664, 176
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Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&S :25
A BBETRXKIC (2) BIK 1%y
2 b g - BIRTE By = B 4 ) W = i
REE S4 kY 2L
B 1.00 3,658.00 3,658/2.00H / 8H
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.50 52, 300. 00 78, 450
Bl S H A
A 1.50 41,100. 00 61, 650
BEENF
A 1.00 34, 900. 00 34,900
BIEf FRP D 70PSZE!
B 1.00 52,702. 00 52, 702 |8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 1.00 657, 600. 00 6,576
& B 1E%HeH - 1.00K 664, 176. 00 664, 176
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Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&S :2-6
L AEACT) (1) EBIRE 1HHY (0.88km2)
£ 5 L - BIRTiE BAf = B & % = & &
REE S4 kY 2L
B 1.00 3,658.00 3,658/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 52,702. 00 52, 702 |8H
B2 FEHER
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.00 52, 300. 00 52,300
B
A 1.00 41,100. 00 41,100
BEENF
A 0.50 34, 900. 00 17, 450
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 2.00 593, 450. 00 11, 869
& B YE%HEH :0.88km2 687, 862. 00 605, 319
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Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 :2-1
%5 BIERACT) ) BIAE 1B%Y (0.22km?2)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,658.00 3,658/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 52,702. 00 52, 702 |8H
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 0.50 34, 900. 00 17, 450
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILFE—LBERZEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 2.00 593, 450. 00 11, 869
& B EEREN :0.22km 2 2,751, 450. 00 605, 319
&5 :2-8
& BIFT—2 28 (ICT) 14y
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.20 60, 600. 00 193, 920
RIS HRER
A 4.20 52, 300. 00 219, 660
Bl S H A
A 6. 60 41,100. 00 271,260
MR 2E0%
% 4.00 684, 840. 00 217,393
& B 1E%HeH - 1.00K 712, 233. 00 712,233
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Rifiz -/ \v7r—o

BT EENNEEERBRMEE - At (-12m) 2R ITE

&5 :2-9
£ RIBT—2FE(GLET) (ICT) 14y
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 5.10 60, 600. 00 309, 060
RIS HRER
A 14.50 52, 300. 00 758, 350
Bl S H A
A 13.70 41,100. 00 563, 070
MR 2E0%
% 4.00 1, 630, 480. 00 65,219
& B 1YE%HeH - 1.00K 1, 695, 699. 00 1,695, 699
&5 :2-10
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 120, 000. 00 120, 000
& Hi 1E%HeH - 1.00K 120, 000. 00 120, 000
&5 : 3-1
ZFF : SRFTE/ET T — A ERK (ICT) IR s EP
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.50 59, 600. 00 89, 400
e (B)
A 1.50 48, 500. 00 72, 750
AR (C)
A 1.00 40, 300. 00 40, 300
& Hi 1E%HEDN 1. 005EER 269, 350. 00 269, 350
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REAR-ET/Avr—> SFN7EE )| B E M ROMES - it (-12m) B T

&S 32
&% EHARE
£ 5 L - BIRTiE BAf % = B & % = & &
EHXARE
= 1.00 8, 080. 00 8,080
& Hi 1YE%HeRH 1,00 8, 080. 00 8, 080
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